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(1) Part ‘A'may be attempted in first 6 pasges
of Answer Sheet.

AT @ @ WP 9w Gow-yiamr @ weny o
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(2) Part ‘B’ in rest of the Sheets of Answer
Sh(‘c

P’/l ﬁyl@ ma t e oy yea) 3

DRSNS RS S SY RSN or Hindi
k gyl @ gov yAf) srerar R 7| More j

Part ‘A’
" @
i Attempt any 10 questions : 10%x2=2()
Y < el @ IR ARy -
(1) Define Data Integrity.
Se1 gAY uRamr AR |

G-510 (P. T. 0.)
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(2) .
(i) What is compiler and precompller ?
FHrEgax adl frrarder @ 8 7
(iii) Whatis locking ?
T Far 8 7
(iv) Define protocol.

S @ arerr P o
(v) How related fieldina database are groupea:

Serdg ¥ wEfEa viesH 31 9 &9 IPR fean
Sar e ? .
(vi) Whatis lossless join property

gifRfEa S| qrodt @ & ?

(vii) What is schema and subschema ?
T T e T 27

(viii) What is normalization ?
AT |18 ?

(ix) In relational model, relations are termed as

operation.

‘As’ 7ot SQL # e 3 forg ST P SRl
14
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(xi) ODBC stands for ......... connectivity.

311 R produces the relation that has attributes
of R1 and R2. ,
.............. T < & o tdiegged R1 @ R2

6,111 R—— another name for weak entity.
ANF (FASIR) TEIST BT AT A9 & ...

(/41,74 JE— command extracts some of the records
from a file.

............. Faie (i) vEa 9 g5 Ree e

Attempt any /S guestions : 5x4=20
<& oia g sav Afeg -
(i) What js foreign key ? How it differs from

primary key?
BRA B R R ? TE UEE B A B uPR
=22

(i) Discuss the five basic operators of relational
algebra with an example.
Rere e S5 & uig g1 savexw 1= SR
® §RI Ta9l HIR |
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Gii) Write short notes on strong and we (@AC—->D
(b)B—->D
set. ; M
et A A B TP T (©) AD - B
l BACK | worr TB(A,B,C,D) @2n FDSA — B
(iv) Differentiate COMMIT and ROLL | BC a—: D AfSrg | aardd 5 oot
statements. o aﬁl ww ZFDS W B W frRkar
ROLLBACK Refed A I | aa’;?' |l & ?
COMMIT @@= ! (@) AC — D
e T | ) . b)B
(v) Discuss Information Hiding in detail. ((c) — D
faega =t Hifg | )AD - B
W w o 1 P ‘R
(vi) Write short notes on compiler and pre- q:: B
B
compiler. ) Attempt any 3 2
martere o st g S E " Frepa Wq;}:ftmlons- :a; 3x20=60
ST 3 SR dfvg -
| fled ® Assume that AR C, ¢ , p '
(vii) How Data Redundancy Tan be Coffronecin = are Sitfiultan@dusty satisfied b ai]d ey
Yy arelati
DBMS ? . Wh?t are candidate keys at this : on_l‘(R).
DBMS # a1 R &I et - gaTe et | Whlch one'is the' primary key o relation ?
Fw@E? ane. attributes ? Are they a: ? What are
(viii) Give the relational schema B (A,B,C,D) for this relation ? Y super keys
and the FDS A —> B and BC —> D. Determine T ART B AB > C, C - D e p
which of the dependencies shown below can T r(R) } v W g3 ey i —> A
be derived from these FDS by application ?:Tg PH-F @ @ o T QA BN :
TEw ? "
of the interference axioms. N ELL RS w1y @ 2 -
T B T B¢ quw o @ o ™
e
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2K5-DS—4 (6) ©
(b) Show that every two attribute relation is in
BCNE, that is if T (, y) then T (x,y) isin 6 @) What are g, ad( 1) 2K5-Ds 4
BCNF. datab Vantages
| ma:se Managemen < of object oriented
MW%WaWWBCNFﬁ éa%mylem?
’a’,awi'cruﬁr(x,y)%‘a’rr(x,y)BCNFﬁ%\ (b)";h““{ W T 3
Discuss the following at1s Inheritance 9
TR Explain its feq
. USS In detall ab() ma';ﬂ ;ﬁﬁm[
(a) Disk files % T 85 i ut Lock and Dead oy
gl (b) Explain: W v o=t
fewn Xplain in detal aboy o Bifiry
(b) Control files . QBE @ fiwy ¥ - E. Give example
(c) Database scheme m | a t e
P RSP |
plomate.greybits.in/
(d) Library cache
e 3
5 (a Discuss in detail about data encapsulation
& T T caie
(b) Differentiat petween Jogical and physical
data structures
o o A 3o gER A I 3
cadl IL



